Sitmultonecus Eqguatons

- Sotut ons C crecklt )
¢y 2o Poper | &3
() (2.%) Y= mixc+C
% g Gs D 4 L o
(lif_u)
(b) (Lh H—) lj = miua + C
Fo 132 Lo tC v
) (I+enco_, meens usvig CASUITAS [ove v b )
F = 2m+cC
- 5 = e e (_nte’Dnod)
Iz L tC (=)
O - F = 2o
b, M=% ke (O
T2 2ont C
= = A=+ C (4’&5)

C =0 v’

Answe = M=, c=z0O .

(L) \g(ad;t.e,d: (m) = Az |



k) 2o0c4 Raper | 89

@ \(.U\.jwo(d . Permelv =2 add edges .

5X ray +x =41

—
ow+2y =L o
LY PR= @r+2
S5X= Y+ 2L (2RE)
51'9—3 "2
€H x +2y =42 ©)
Sk -2y =22 @ v ebnocl
O+ > = wuy
X =h o

3. x=k nleo (D
©x +2y =LY
bxly + D_\LJ =L
A t 2y =Ll
29y =18
g =9 R
check w @
S5 -2y =2

5S¢l -2xA = 204 = 2 v~

° fiswers . 2 =, y=9

(Zew)

E



(2)

2008 Paper 2. .4
(@) ©Ocans altogebnas . o + g = ((=Ye) e
(2w
(b)) total vallioe @ ©05x + 02y = @Feud
(vads > o £)
©)
DC.‘,S = GO ® = % +y = 0 (O]
“ y = v
0Sx t02y = *uo@) % 1= K toby = 3uso @)
O-6 O by = 25°2%
Y- QAS°2L =~ 0O-b
Y- 42 .
gub . 314’2 wlo @
Xty = 0O
%X + W2 = 0 (3&5)
x = |\ v
theck w @ ©3Sx to2y = IF Lo

O3 xI® +tQO 7 ¥l =

A+ &L " FLO v
Answe There o€

/

15 S0p cons inthe prggy boak .

The oueston only asks for howo meny

SDp cons e e > ¢ e ad ebemunaded
twe g’

S‘Uwﬁkﬂt CURO -

we  ucwddl auue 33\: Ve cnSuaen



W) 2003F Paperl @l

(=) X = stoncdorel Seats
Y =2 dcluxe seats .

300 seats alkogebner = dcty =3c0. v

) Stondord (1) = L cain
Deloxe (y) - e eaun .
Toktal cost = 1330 =5 4oc + by =12%0 v

(3k)

©) Xtry =30 © xXb =2 bx rby = 1800 @)
I by = 1230 @) = 4';c -t-;tjzlaéo @
vivebnod
®-6 2x = 490
x: aio0 v

Sub. x= 210 whR O
wty *200 (&Q&)
U0ty =300
U =Sy

checke W @ 43(_4-(08 =\2]D

420+ [5A0 = SUOT SLo = 1R8O +

‘Anaswier: TVviere o 210 Stondavel seaks ondl

A0 dewxe seats .



) 2006 Pape \ &S

e Ywoals / Taneimanon: 20° gaes altogether.
Sad 2 loses Y
2 IS towon, B2 iciese.

(=) SLF L & 2.6

= (Vew)

LY Sx r2y= Fa v ()

c) Xty =20 ® x2 H 2ty =40 O o
5% 2y -39 Sx *2y-319 @
® - @® 3x = 39
% =13 v (3(&)

Anseser Gaecn wons _\i %QMQS v

note . Tvie gueshol coes ack ask howo meony games
Euen. loses so there s no neecl +to ooVl ou.td

Iftjog oo uwolk- oukt Y mede sde yowr enswav iy
vey cleor™,



() 2004 Popes | OF

(o)) XY, xtry, nt2y , 274.1-% .- (odel p@LauJ

sSe 2o5¢ + 3 =5, = *euy\g)

) Y, 3¢, X, y+ 2, 24+3x, 3y +5%

& BYrSx = F = S+ 3y =13

©) &x+33=5 Q)
F§x +3y =\ @)

@ -0© 2 = 12
x = L

sub. x=L into (O
Qo+ 3y =5
ely +35 =5
B + 3y =5
3y =-3

ehecc W @1 Sxr3y =1}
S5xly +3x-\V = 20°3 =1}

W
&
ia

L}

]

‘Q(\Sv\lef i x




(F) 2003 Papes | 0%

(@) et n = neof ruguts, b= n°of breakfasts

3N+ 2b = LS v

(@Rkv)
(b) 5n + 2b = LD v

An+2b= LS X3 =2 TN th = 435 @
5n 43 =200 @) x2 =D 10 +6k = LEe @ et

© -G = 45

()

m bn'c L‘,SI nto ®

dn+ 2o= LS
2vlUS t2b = 1uy
135 +2b =S

2o = Lo v
b =5, (&ZE)

eccheck @
5n + 3b- 210
58 + 5% 3 = B +5 * 9,0+

[RS8

TPD
[o

Answes @ Twe cost of one brealk fast



®) 2002 Paps | .12

lel P be cost o peaciv
(@) 4o +3g =130 @ S SIS

() Qp + kg = 1220 @

© @ x2 =2 4p~+8g=auLo @
4‘0—*38‘1"3,0@

@'@ bgF 1*10
8‘ 022

swb g=022 into @
QP T L+3 = Loy
Rp Lo, =120
ap t O-8s = |20

2p = 0-32
p=ole

cveck v @
4p + 3g = 120
4v 0O\l t3x02L % 0-6L YO bbb = 130

Answec: 3 peaches ¥ Q\gra,\oeﬁud-s = x0Ole + 2xD22
= 0O-LU8 TO- L

= foa2

el 9 be cost OFO@/QPE(—}M{J',



(q) 2 001 Pq_pej 2. @y

el G e, (@
u2e)

- J
&) = -
_—|u ) S

@  leyuords:. Egquabon ep e
Cc 'g

(Y (Y™ v’
EQJQO,DO(\, =" y = .\13; K AL (x2)
P
Sjﬂ = 2+ b ((ﬁcuvcnge)
3y-x - b (3ew)

Qo) ‘CQSV\-Ode‘. Cuk acoss = powvt of nessechon => SiM. eans.

S = *= (B «8 =7 DY-Sx. =B @
" + 4
4\:5 +OX = Lib (2) - L;H 45y =kl @

A™
metnacl
®+0 1Ay« Fio
y=4
sub yz4 wo
Ay -X=6
el = A=l
2 -% = dee
(e
xzl

schneck n @ : 4Y+SA =4
Axls +S¥b 2 (b +30 =Lk ()

/
-hna,p/g,‘oes CAOSS |



(1) 2000 Paper 2 ©S
leyenords: (eckangle, leagn, oreadfm, peameles =odd edges .

() QL + 2b = 20 @ + (iku)
(b) 54 + 80 = FF0 Q@ v (2we)

& Oxu = Btr'=wLO @
6L + 8 = FF0 (B metned

®-@ 3L = 230
L= Q0

Jub. L=60 e O
2L + 2b = 200

20+ 25: 260 @ RE)
180 + 2b- 2.0
2b= 80
bhzuO W

ecnechk. w @‘.
5 8p % 5

5%A0 t &« L0z 45D +320 = FF0ov)

Answel : eadth = S0 e
oreadbn = Lo e .




